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110908 Hanoi Tower Troubles Again!

There are many interesting variations on the Tower of Hanoi problem. This version consists of N
pegs and one ball containing each number from 1, 2, 3, . . . ,∞. Whenever the sum of the numbers on
two balls is not a perfect square (i.e., c2 for some integer c), they will repel each other with such force
that they can never touch each other.
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The player must place balls on the pegs one by one, in order of increasing ball number (i.e., first
ball 1, then ball 2, then ball 3. . . ). The game ends where there is no non-repelling move.

The goal is to place as many balls on the pegs as possible. The figure above gives a best possible
result for 4 pegs.

Input

The first line of the input contains a single integer T indicating the number of test cases (1 ≤ T ≤
50). Each test case contains a single integer N (1 ≤ N ≤ 50) indicating the number of pegs available.

Output

For each test case, print a line containing an integer indicating the maximum number of balls that
can be placed. Print “-1” if an infinite number of balls can be placed.

Sample Input

2
4
25

Sample Output

11
337
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